[TPAKTUKVYM I10 PEIHEHNIO PAITMOHAJIbBHBIX HEPABEHCTB
METO/]I UHTEPBAJIOB (BTOPAS YACTD)

BAPUAHT Nel BAPUAHT Ne2 BAPUAHT Ne3
2 2
1 (x —3x)(x +x+10)20 (9x —1Xx —25) <0 (x —7X— 8)(6+2x) <0
X+2 X +4 X —5x*
— X% +2x -7 (36+ x?(2-2x) 4 — x*
2 x(x—8)(2x+3)So x(x+1) =0 x®(x? —x+5i<o
3 X2+ X—2 2x% —23x+45 >0 (x? —2x+1)1+ 2x) <0
[ 3-x-2%" 81— x* 6x° +x-1
x* —6x+9 —x* +10x—25 3x* —12
Ylox P 20 50 12—
4 3 7
5 (X—3) (1—2X)5 50 (X+X2)5(3X—9)<0 (x2 _?;x—4) _ >0
(2x-1)2-6x) x*(1-x?) (x? —4x)" (5-2x)
6. | -1 -2 50 3 7 5, 1
X-3 X+3 X“=1 14X X  2X—=X
2 3 1 4 3 2
7. | —+——-<0 5 > 2>
X+1 x-4 2X°—x-3 3-2X 4-X +2x-8
g | X1 2 | 1 5 1 X _3 L
| x+4 x+3 2 X+7 x—2 x-3 x 3
X—=5 2X—2 2X+3 3—- Xx+1 3X
9. < >0
x> —2x+1 5x* —4x-1 X +x—2 1-x 2+3x x* +6x+9
2 4 2 2
10| X +x_x_2_ X 42rx—62 3 —25x X +7x<O
X+1 X X° -4 2—X X X
OTBETHI
BAPUAHT Nel BAPUAHT Ne2 BAPUAHT Ne3
1. | (-2,0]u[3+) (-5-1/3)u(/3:5) (—o0;-1] U (0;0,2) U [8;+00)
2. | (~150)U(8+0) (—oo—1) U (07] (—0;0) L (4;+0)
3. | (roo—2]u(-151) U (L+0) (-9;25) (—0;—0,5)uU(-0,5,1/3)
4. (-33 (~o0;-5) U (5;+0) Cooi-2]
5. | (1/3,0,5)w(0,5;+00) (—o0;=1) U (=L0) U (0:1) U (3+00) | (—o0;—1] U (4+00)
6. | (—0;-3)U(3,9) (-12)U[10/7 ;400) (0:,8] L (2;+00)
7. | (Fo-1)ui:4) (-1,25,-1) U (1,5;+0) (-4-32]u(-2;2)
8. | (~o—4)u(-3-1] (= o01—1) U (2;40) (—0;0) U (3;400)
9. | (~oo—/3)u(-0,21)U(L7) {~3}u(-2-1) U (L+o0) (0;+0)
10. | (=o0;=1)U(=L0)U[L;+00) (—o0;—4]U (= 2,0] U (2;+0) (-3,0)u(0;4)




